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COMMUNITCATION SYSTEMS

Introduction

1. Who invented world wide web?

A. J.C.R. Licklider

B. Tim Berners-Lee

C. Alexander Graham Bell

D. Samuel F,B. Morse

Answer: B

W t h Vid S l ti

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_E7metqRfll06


Elements Of A Communication System

Watch Video Solution

2. Who invented world wide web?

A. J.C.R. Licklider

B. Tim Berners-Lee

C. Alexander Graham Bell

D. Samuel F,B. Morse

Answer: B

Watch Video Solution

1. Essential elements of a communication system are

A. transmitter and receiver

https://dl.doubtnut.com/l/_E7metqRfll06
https://dl.doubtnut.com/l/_vHOi2Ei7pwml
https://dl.doubtnut.com/l/_eMN0uv811ZbH


B. reciever and communication channel

C. transmitter and communication channel

D. transmitter, comunication channel and receiver

Answer: D

Watch Video Solution

2. Which of the following is an example of point to point communication

mode?

A. Radio

B. Television

C. Telephony

D. All of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_eMN0uv811ZbH
https://dl.doubtnut.com/l/_i0P5OFFlOXN2


3. Essential elements of a communication system are

A. transmitter and receiver

B. reciever and communication channel

C. transmitter and communication channel

D. transmitter, comunication channel and receiver

Answer: D

Watch Video Solution

4. Which of the following is an example of point to point communication

mode?

A. Radio

B. Television

C. Telephony

https://dl.doubtnut.com/l/_i0P5OFFlOXN2
https://dl.doubtnut.com/l/_X7MMd48R7RfO
https://dl.doubtnut.com/l/_UzXZ3TisbaUh


Basic Terminology In Electronic Communication

D. All of these

Answer: C

Watch Video Solution

1. Which among following is not a basic terminology used in electronic

communication systems?

A. Transducer

B. Transmitter

C. Telegraph

D. Attenuation

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_UzXZ3TisbaUh
https://dl.doubtnut.com/l/_jGKld87U3pus


2. Which of the following is not transducer?

A. Loudspeaker

B. Amplifier

C. Microphone

D. All of these

Answer: B

Watch Video Solution

3. The loss of strength of a signal while propagating through a medium is

known as

A. reception

B. absorption

C. trasnmission

D. attenuation

https://dl.doubtnut.com/l/_WVpkzmh4DDb3
https://dl.doubtnut.com/l/_KNaUNe2bzahr


Answer: D

Watch Video Solution

4. The process of increasing the strength of a signal using an electronic

circuit is called.

A. amplification

B. modulation

C. demodulation

D. transmission

Answer: A

Watch Video Solution

5. Modern is a device which performs

https://dl.doubtnut.com/l/_KNaUNe2bzahr
https://dl.doubtnut.com/l/_qv6U5Fc8PTgQ
https://dl.doubtnut.com/l/_VLvZCC8karY5


A. modulation

B. demodulation

C. rectification

D. modulation and demodulation

Answer: D

Watch Video Solution

6. Modulation is the process of superposing

A. low frequency audio signal on high frequency radio waves.

B. low frequency radio signals on low frequency audio wave.

C. high frequency radio signal on low frequency audo signal.

D. high frequency audio signal on low frequency radio waves.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_VLvZCC8karY5
https://dl.doubtnut.com/l/_lq7jIrgIa4Fx


7. The device which is a combination of a receiver and a transmitter is

A. Amplifier

B. Repeater

C. Transducer

D. Modulator

Answer: B

Watch Video Solution

8. Which among following is not a basic terminology used in electronic

communication systems?

A. Transducer

B. Transmitter

C. Telegraph

https://dl.doubtnut.com/l/_lq7jIrgIa4Fx
https://dl.doubtnut.com/l/_40qALrIIK6aD
https://dl.doubtnut.com/l/_g2uFbjroFzS0


D. Attenuation

Answer: C

Watch Video Solution

9. Which of the following is not transducer?

A. Loudspeaker

B. Amplifier

C. Microphone

D. All of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_g2uFbjroFzS0
https://dl.doubtnut.com/l/_H8MLhjuTJhCR


10. The loss of strength of a signal while propagating through a medium

is known as

A. reception

B. absorption

C. trasnmission

D. attenuation

Answer: D

Watch Video Solution

11. The process of increasing the strength of a signal using an electronic

circuit is called.

A. 1. amplification

B. 2. modulation

C. 3. demodulation

https://dl.doubtnut.com/l/_mJQ1t4omKUz3
https://dl.doubtnut.com/l/_IkWFjMgx4QII


D. 4. transmission

Answer: A

Watch Video Solution

12. Modern is a device which performs

A. 1. modulation

B. 2. demodulation

C. 3. rectification

D. 4. modulation and demodulation

Answer: D

Watch Video Solution

13. Modulation is the process of superposing

https://dl.doubtnut.com/l/_IkWFjMgx4QII
https://dl.doubtnut.com/l/_JGTcshMxQWDI
https://dl.doubtnut.com/l/_nlmChPtWiSd9


A. low frequency audio signal on high frequency radio waves.

B. low frequency radio signals on low frequency audio wave.

C. high frequency radio signal on low frequency audo signal.

D. high frequency audio signal on low frequency radio waves.

Answer: A

Watch Video Solution

14. The device which is a combination of a receiver and a transmitter is

A. 1. Amplifier

B. 2. Repeater

C. 3. Transducer

D. 4. Modulator

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_nlmChPtWiSd9
https://dl.doubtnut.com/l/_tEszhvxhDwuo


Bandwidth Of Signals

1. Large bandwidth for higher data rate is achieved by using

A. high frequency carrier wave

B. high frequency audio wave

C. low frequency carrier wave

D. low frequency audio wave

Answer: A

Watch Video Solution

2. In a video signal for transmission of picture. What value of bandwidth

is used in communication system?

A. 2.4 MHz

https://dl.doubtnut.com/l/_tEszhvxhDwuo
https://dl.doubtnut.com/l/_7pLvXDGa5hHX
https://dl.doubtnut.com/l/_81dvFXk9SOGT


B. 4.2MHz

C. 24MHz

D. 42MHz

Answer: B

Watch Video Solution

3. Large bandwidth for higher data rate is achieved by using

A. high frequency carrier wave

B. high frequency audio wave

C. low frequency carrier wave

D. low frequency audio wave

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_81dvFXk9SOGT
https://dl.doubtnut.com/l/_NWrQB6PvrSnI
https://dl.doubtnut.com/l/_KLOqPsMNznnU


Bandwidth Of Transmission Medium

4. In a video signal for transmission of picture. What value of bandwidth

is used in communication system?

A. 2.4 MHz

B. 4.2MHz

C. 24MHz

D. 42MHz

Answer: B

Watch Video Solution

1. Which one of the following statement is correct?

A. A single geostationary satellite can cover the whole part of the

earth for microwave communication.

https://dl.doubtnut.com/l/_KLOqPsMNznnU
https://dl.doubtnut.com/l/_bwV8VJjXeonT


B. Atleast three geotationary satellities in the same orbit around

earth can cover the whole part of the earth for microwave

communication.

C. The first Indian communication satellite is Telstar.

D. The satellite communication is not like the line of sight microwave

communication.

Answer: B

Watch Video Solution

2. Which of the following is an example of broadcast mode of

communication?

A. Radio

B. Television

C. Mobile

https://dl.doubtnut.com/l/_bwV8VJjXeonT
https://dl.doubtnut.com/l/_OQfeXFk3KrD3


D. Both a and b

Answer: D

Watch Video Solution

3. Which of the following device is full duplex?

A. Mobile phone

B. Walky-talky

C. Loud speaker

D. Radio

Answer: A

Watch Video Solution

4. FM boradcast is preferred over AM broadcast because

https://dl.doubtnut.com/l/_OQfeXFk3KrD3
https://dl.doubtnut.com/l/_AyGxXYE9uOnW
https://dl.doubtnut.com/l/_K8vo4nvEzkpH


A. it is less noisy.

B. reproduction is of much better quality.

C. it is more noisy.

D. both a and b

Answer: D

Watch Video Solution

5. The frequency band used in the downlink of s atellite communication is

A. 9.5 to 2.5 GHz

B. 8 96 to 0901 MHz

C. 3.7 to 4.2 GHz

D. 840 to 935 MHz

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_K8vo4nvEzkpH
https://dl.doubtnut.com/l/_YjINLZVJOpZq


6. The ratio waves of frequency  to  belong to

A. high frequency band

B. very high frequency band

C. ultra high frequency band

D. super high frequency band

Answer: B

Watch Video Solution

300MHz 3000MHz

7. For base station to mobile communication, the required frequency

band is

A. 540-1600 KHz

B. 200-325MHz

C. 5.9-6.42GHz

https://dl.doubtnut.com/l/_YjINLZVJOpZq
https://dl.doubtnut.com/l/_2ROjmjKpLNbC
https://dl.doubtnut.com/l/_0wAUfDQG5CXy


D. 840-935 MHz

Answer: D

Watch Video Solution

8. Match the column I with column II. 

A. A-(q),B-(r), C-(s),D-(p)

B. A-(q),B-(s),C-(q),D-(r)

C. A-(r),B-(p),C-(q),D-(s)

D. A-(r),B-(s),C-(p) ,D-(q)

Answer: C

https://dl.doubtnut.com/l/_0wAUfDQG5CXy
https://dl.doubtnut.com/l/_lXz7XFzeSXpS


Watch Video Solution

9. In optical communication system operating at 1200nm, only 2% of the

source frequency is available for TV t ransmission having a bandwidth of

5 MHz. the number of TV channels that can be transmitted is

A. 2 million

B. 10 million

C. 0.1 million

D. 1 million

Answer: D

Watch Video Solution

10. A microwave telephone link operating at the central frequency of

10GHz has been established if 2% of this is available for microwave

communication channel. Then how many telephone channels can be

https://dl.doubtnut.com/l/_lXz7XFzeSXpS
https://dl.doubtnut.com/l/_ik7pmDTYU4uA
https://dl.doubtnut.com/l/_BgHlWxMyfYdm


simultaneously granted if each telephone is allotted a bandwidth of 8

KHz?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1.5 × 103

3.5 × 102

2.5 × 104

4.5 × 106

11. A band width of 5 MHz is available for AM transmission. If the

maximum audio signal frequency used for modulating the carrier is not

to exceed 5 kHz, how many stations can be broad cast within this band

simultaneously without interfering with eachother?

A. 200

B. 300

https://dl.doubtnut.com/l/_BgHlWxMyfYdm
https://dl.doubtnut.com/l/_GxhHeJL8ihId


C. 400

D. 500

Answer: D

Watch Video Solution

12. A communication between a fixed base station and several mobile

units, located on ships or aircraft utilising two way radio communication

in the VHF and UHF is of frequency band

A. 3 to 30 MHz

B. 30 to 300 MHz

C. 30 to 470MHz

D. 30 to 600 MHz

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_GxhHeJL8ihId
https://dl.doubtnut.com/l/_Ym5RCVvZ6hn6


13. Which one of the following statement is correct?

A. A single geostationary satellite can cover the whole part of the

earth for microwave communication.

B. Atleast three geotationary satellities in the same orbit around

earth can cover the whole part of the earth for microwave

communication.

C. The first Indian communication satellite is Telstar.

D. The satellite communication is not like the line of sight microwave

communication.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Ym5RCVvZ6hn6
https://dl.doubtnut.com/l/_Dm3esqbHY2Ub


14. Which of the following is an example of broadcast mode of

communication?

A. Radio

B. Television

C. Mobile

D. Both a and b

Answer: D

Watch Video Solution

15. Which of the following device is full duplex?

A. Mobile phone

B. Walky-talky

C. Loud speaker

D. Radio

https://dl.doubtnut.com/l/_YqTSC6b7F2zN
https://dl.doubtnut.com/l/_O0rwJofI2na8


Answer: A

Watch Video Solution

16. FM boradcast is preferred over AM broadcast because

A. it is less noisy.

B. reproduction is of much better quality.

C. it is more noisy.

D. both a and b

Answer: D

Watch Video Solution

17. The frequency band used in the downlink of s atellite communication

is

https://dl.doubtnut.com/l/_O0rwJofI2na8
https://dl.doubtnut.com/l/_O5jgu2bj7tpz
https://dl.doubtnut.com/l/_ydknNEcWl75l


A. 9.5 to 2.5 GHz

B. 8 96 to 0901 MHz

C. 3.7 to 4.2 GHz

D. 840 to 935 MHz

Answer: C

Watch Video Solution

18. The ratio waves of frequency  to  belong to

A. high frequency band

B. very high frequency band

C. ultra high frequency band

D. super high frequency band

Answer: B

Watch Video Solution

300MHz 3000MHz

https://dl.doubtnut.com/l/_ydknNEcWl75l
https://dl.doubtnut.com/l/_yKXrnaaie5WW


19. For base station to mobile communication, the required frequency

band is

A. 540-1600 KHz

B. 200-325MHz

C. 5.9-6.42GHz

D. 840-935 MHz

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_yKXrnaaie5WW
https://dl.doubtnut.com/l/_iK02qqqeYv77


20. Match the column I with column II. 

A. A-(q),B-(r), C-(s),D-(p)

B. A-(q),B-(s),C-(q),D-(r)

C. A-(r),B-(p),C-(q),D-(s)

D. A-(r),B-(s),C-(p) ,D-(q)

Answer: C

Watch Video Solution

21. In a communication system, operating at 1200 mm, only 2% of the

source frequency is available for T.V. transmission , having a bandwidth of

https://dl.doubtnut.com/l/_89Smg1HcdNw0
https://dl.doubtnut.com/l/_SmXhQaSYYN2i


5 MHz. The number of T.V. channels that can be transmitted is

A. 2 million

B. 10 million

C. 0.1 million

D. 1 million

Answer: D

Watch Video Solution

22. A microwave telephone link operating at the central frequency of

10GHz has been established if 2% of this is available for microwave

communication channel. Then how many telephone channels can be

simultaneously granted if each telephone is allotted a bandwidth of 8

KHz?

A. a. 

B. b. 

1.5 × 103

3.5 × 102

https://dl.doubtnut.com/l/_SmXhQaSYYN2i
https://dl.doubtnut.com/l/_Za3Pg6PzHcsl


C. c. 

D. d. 

Answer: C

Watch Video Solution

2.5 × 104

4.5 × 106

23. A band width of 5 MHz is available for AM transmission. If the

maximum audio signal frequency used for modulating the carrier is not

to exceed 5 kHz, how many stations can be broad cast within this band

simultaneously without interfering with eachother?

A. 200

B. 300

C. 400

D. 500

Answer: D

W t h Vid S l ti

https://dl.doubtnut.com/l/_Za3Pg6PzHcsl
https://dl.doubtnut.com/l/_V2EGRL8AGuqd


Propagation Of Electromagnetic Waves

Watch Video Solution

24. A communication between a fixed base station and several mobile

units, located on ships or aircraft utilising two way radio communication

in the VHF and UHF is of frequency band

A. 3 to 30 MHz

B. 30 to 300 MHz

C. 30 to 470MHz

D. 30 to 600 MHz

Answer: C

Watch Video Solution

1. Ground wave have wavelength

https://dl.doubtnut.com/l/_V2EGRL8AGuqd
https://dl.doubtnut.com/l/_FIytgNZPXChZ
https://dl.doubtnut.com/l/_7XVcbULK33lp


A. less than that of sky waves

B. greater than that of sky waves

C. less than that of space waves

D. equal to that of space waves

Answer: B

Watch Video Solution

2. The mode of propagation used by short wave broadcast services is

A. space waveq

B. sky wave

C. ground wave

D. both and and c

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_7XVcbULK33lp
https://dl.doubtnut.com/l/_pYTxQ8OiWsu8


3. The skip zone in radio wave trasmission is that range where

A. there is no reception of either ground wave or sky wave

B. the reception of ground wave is maximum b ut that of sky wave is

minimum

C. the reception of ground wave is minimum, but that of sky wave is

maximum

D. the reception of both ground and sky wave is maximum.

Answer: A

Watch Video Solution

4. Which one of the following statements is wrong?

https://dl.doubtnut.com/l/_pYTxQ8OiWsu8
https://dl.doubtnut.com/l/_4eMCxlMrQe3G
https://dl.doubtnut.com/l/_ZuNGkZcpRO3D


A. Ground wave propagation can be sustained at frequencies 500 KHz

to 1500 KHz.

B. Satellite communication is useful for the frequencies above 30 MHz.

C. Sky wave propagation is useful in the range of 30 to 40 MHz.

D. Space wave propagation takes place through tropospheric space.

Answer: C

Watch Video Solution

5. The waves that are bent down by the ionosphere are

A. grund waves

B. surface waves

C. space waves

D. sky waves

Answer: D

https://dl.doubtnut.com/l/_ZuNGkZcpRO3D
https://dl.doubtnut.com/l/_fONoYI9D3xys


Watch Video Solution

6. The maximum line-of -sight distance  between two antennas having

heights  and  above the earth is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

dM

hT HR

√R(hT + hR)

√2R/(hT + hR)

√RhT + √2RhR

√2RhT + √2RhR

7. Frequencies in the UHF range normally propagate by means of

A. ground waves

B. sky wave

https://dl.doubtnut.com/l/_fONoYI9D3xys
https://dl.doubtnut.com/l/_D6pIXA4jCaZO
https://dl.doubtnut.com/l/_TC2HozTqJdcO


C. surface waves

D. space waves

Answer: D

Watch Video Solution

8. If the whole earth is to be connected by LOS communication using

space waves ( no restriction of antenna size or tower height), what is the

minimum no of antennaas required ? Calculate the tower height of these

antennas in terms of earth's radius?

A. 2

B. 3

C. 4

D. 6

Answer: D

W t h Vid S l ti

https://dl.doubtnut.com/l/_TC2HozTqJdcO
https://dl.doubtnut.com/l/_BEd0hZ3evXNq


Watch Video Solution

9. A ground receiver in line-of-sight communication cannot receive direct

waves due to

A. its low frequency

B. curvature of earth

C. its high intensity

D. smaller antenna

Answer: B

Watch Video Solution

10. Which of the following modes is used for line of sight

A. Ground wave

B. Sky wave propagation is useful in the range of 30 to 40 MHz.

https://dl.doubtnut.com/l/_BEd0hZ3evXNq
https://dl.doubtnut.com/l/_gFwD86HmRvxj
https://dl.doubtnut.com/l/_OEeBkiHroPFV


C. Space wave

D. All of these

Answer: C

Watch Video Solution

11. Through which mode of propagation, the radio waves can be sent from

one place to another

A. Ground wave propagation can be sustained at frequencies 500 KHz

to 1500 KHz.

B. Sky wave propagation is useful in the range of 30 to 40 MHz.

C. space wave propagation

D. all of them

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_OEeBkiHroPFV
https://dl.doubtnut.com/l/_77BR3BC8Oldi


12. Which of the following frequencies will be suitable for beyond the

horizon communication using sky waves?

A. 10KHz

B. 10MHz

C. 1GHz

D. 1000GHz

Answer: B

Watch Video Solution

13. A TV transmitting antenna is 125 m tall. How much service area this

transmitting antenna cover, if the receiving antenna is at the ground

level? Radius of earth .

A. 

= 6400km

3258km2

https://dl.doubtnut.com/l/_77BR3BC8Oldi
https://dl.doubtnut.com/l/_BejuqUf4UOJG
https://dl.doubtnut.com/l/_pJaSSi6E5eFm


B. 

C. 

D. 

Answer: A

Watch Video Solution

4180km2

2510km2

1525km2

14. A transmitting antenna at the top of the tower has a height 18 m and

the height of the receiving antenna is 32m. The maximum distance

between them for satisfactory communciation in line of sight mode is

(Radius of earth )

A. 15.15km

B. 21.25km

C. 30.45km

D. 35.42km.

= 6.4 × 106m

https://dl.doubtnut.com/l/_pJaSSi6E5eFm
https://dl.doubtnut.com/l/_PWFG0zmTjlKS


Answer: D

Watch Video Solution

15. A transmitting antenna of height 20 m and the receiving antenna of

height h are separated by a distance of 40km for satisfactory

communication in line of sight mode. Then the value of h is

A. 40m

B. 45m

C. 30m

D. 25m

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_PWFG0zmTjlKS
https://dl.doubtnut.com/l/_32Z1MIvXkiTF


16. A TV transmission tower antenna is at a height of 20m. The

percentage increase in area covered in case if the receiving antenna is at

ground level to that at a height of 25 m is (Radius of earth

)

A. 2.48

B. 

C. 

D. 

Answer: B

Watch Video Solution

= 6.4 × 106m

348.9 %

150 %

360.2 %

17. By what percentage will the transmission range of a T.V. tower be

affected when the height of the tower is increased by 21% ?

A. 0.1

https://dl.doubtnut.com/l/_nvcTvKfVay6X
https://dl.doubtnut.com/l/_0xPemf4zTRtx


B. 0.2

C. 0.3

D. 0.4

Answer: A

Watch Video Solution

18. A TV transmission tower has a height of 240 m. Signals broadcast from

this tower will be received by LOS communication at a distance of

(assume the radius of earth to be )

A. 100km

B. 110km

C. 55km

D. 120km

Answer: C

6.4 × 106m

https://dl.doubtnut.com/l/_0xPemf4zTRtx
https://dl.doubtnut.com/l/_o8PxzIRk5OwU


Watch Video Solution

19. A fax message is to be sent from Delhi to washington via a

geostationary satellite. Calculate the minimum time delay between 

the dispatch and its getting received. Take 

height of the geostationary satellite = 36000 

km.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

72 × 103km

12 × 103km

27 × 103km

18 × 103km

https://dl.doubtnut.com/l/_o8PxzIRk5OwU
https://dl.doubtnut.com/l/_UjcKRkbG6A9n


20. A 50 MHz sky wave sky wave takes 4.04 ms to reach a receiver via re-

transmission from a satellite 600 km above earth's surface. Assuming re-

transmission time by satellite negligible, find the distance between

source and receiver. If communication between the two was to be done

by Line of sight (LOS) method,what should be the size of transmitting

antenna ?

A. 606km

B. 170km

C. 340km

D. 280km

Answer: B

Watch Video Solution

21. What should be the length of the dipole antenna for a carrier wave of

frequency  Hz?3 × 108

https://dl.doubtnut.com/l/_DXKZWzn61P74
https://dl.doubtnut.com/l/_4HYCdO5RQHkm


A. 1m

B. 0.5m

C. 2m

D. 2.5 m

Answer: B

Watch Video Solution

22. A radio can tune to any station in 7.5 MHz to 12MHz band. The

corresponding wavelength band is

A. 25m-40m

B. 10m-30m

C. 20-40m

D. 25m-35m

Answer: A

https://dl.doubtnut.com/l/_4HYCdO5RQHkm
https://dl.doubtnut.com/l/_qXCl5yAeZS4a


Watch Video Solution

23. On a particular day, the maximum frequency reflected from the

ionosphere is 10 MHz. On another day, it was found to increase to 11 MHz.

Calculate the ratio of the maximum electron densities of the ionosphere

on the two days. Point out a plausible explanation for this.

A. 1.21

B. 0.82

C. 

D. 

Answer: A

Watch Video Solution

0.50

0.25

24. Ground wave have wavelength

https://dl.doubtnut.com/l/_qXCl5yAeZS4a
https://dl.doubtnut.com/l/_jQzF57Pa1ojT
https://dl.doubtnut.com/l/_CSAbJMwtO403


A. less than that of sky waves

B. greater than that of sky waves

C. less than that of space waves

D. equal to that of space waves

Answer: B

Watch Video Solution

25. The mode of propagation used by short wave broadcast services is

A. space wave

B. sky wave

C. ground wave

D. both a and c

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_CSAbJMwtO403
https://dl.doubtnut.com/l/_Xavnej2tYJYM


26. The skip zone in radio wave trasmission is that range where

A. there is no reception of either ground wave or sky wave

B. the reception of ground wave is maximum b ut that of sky wave is

minimum

C. the reception of ground wave is minimum, but that of sky wave is

maximum

D. the reception of both ground and sky wave is maximum.

Answer: A

Watch Video Solution

27. Which one of the following statements is wrong?

https://dl.doubtnut.com/l/_Xavnej2tYJYM
https://dl.doubtnut.com/l/_5T8oIh2yv85I
https://dl.doubtnut.com/l/_8OyelLyjYnlD


A. 1. Ground wave propagation can be sustained at frequencies 500

KHz to 1500 KHz.

B. 2. Satellite communication is useful for the frequencies above 30

MHz.

C. 3. Sky wave propagation is useful in the range of 30 to 40 MHz.

D. 4. Space wave propagation takes place through tropospheric space.

Answer: C

Watch Video Solution

28. The waves that are bent down by the ionosphere are

A. grund waves

B. surface waves

C. space waves

D. sky waves

https://dl.doubtnut.com/l/_8OyelLyjYnlD
https://dl.doubtnut.com/l/_wTHJlFyOR5SW


Answer: D

Watch Video Solution

29. The maximum line-of -sight distance  between two antennas

having heights  and  above the earth is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

dM

hT HR

√R(hT + hR)

√2R/(hT + hR)

√RhT + √2RhR

√2RhT + √2RhR

30. Frequencies in the  range normally propagate by means of:UHF

https://dl.doubtnut.com/l/_wTHJlFyOR5SW
https://dl.doubtnut.com/l/_mteyGv9JWehN
https://dl.doubtnut.com/l/_3oMmiQ4Bc2L9


A. ground waves

B. sky wave

C. surface waves

D. space waves

Answer: D

Watch Video Solution

31. If the whole earth is to be connected by LOS communication using

space waves ( no restriction of antenna size or tower height), what is the

minimum no of antennaas required ? Calculate the tower height of these

antennas in terms of earth's radius?

A. 2

B. 3

C. 4

D. 6

https://dl.doubtnut.com/l/_3oMmiQ4Bc2L9
https://dl.doubtnut.com/l/_seqb8jgIt9U5


Answer: D

Watch Video Solution

32. A ground receiver in line-of-sight communication cannot receive direct

waves due to

A. 1. its low frequency

B. 2. curvature of earth

C. 3. its high intensity

D. 4. smaller antenna

Answer: B

Watch Video Solution

33. Which of the following modes is used for line of sight

https://dl.doubtnut.com/l/_seqb8jgIt9U5
https://dl.doubtnut.com/l/_5EZCZhwbxzMk
https://dl.doubtnut.com/l/_if3YY4Zrk2kH


A. Ground wave

B. Sky wave propagation is useful in the range of 30 to 40 MHz.

C. Space wave

D. All of these

Answer: C

Watch Video Solution

34. Through which mode of propagation, the radio waves can be sent

from one place to another

A. Ground wave propagation can be sustained at frequencies 500 KHz

to 1500 KHz.

B. Sky wave propagation is useful in the range of 30 to 40 MHz.

C. space wave propagation

D. all of them

https://dl.doubtnut.com/l/_if3YY4Zrk2kH
https://dl.doubtnut.com/l/_NFdjjpuEV1a3


Answer: D

Watch Video Solution

35. Which of the following frequencies will be suitable for beyond the

horizon communication using sky waves?

A. 10KHz

B. 10MHz

C. 1GHz

D. 1000GHz

Answer: B

Watch Video Solution

36. A TV transmitting antenna is 81 m tall. How much service area it can

cover if the receiving antenna is at the ground level? (Radius of earth=

https://dl.doubtnut.com/l/_NFdjjpuEV1a3
https://dl.doubtnut.com/l/_XxG4yqAgRA74
https://dl.doubtnut.com/l/_xhhB4N9S4CQ8


)

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

6.4 × 106m

3258km2

4180km2

2510km2

1525km2

37. A transmitting antenna at the top of the tower has a height 18 m and

the height of the receiving antenna is 32m. The maximum distance

between them for satisfactory communciation in line of sight mode is

(Radius of earth )

A. 15.15km

B. 21.25km

C. 30.45km

= 6.4 × 106m

https://dl.doubtnut.com/l/_xhhB4N9S4CQ8
https://dl.doubtnut.com/l/_JkQVQYsFKYhe


D. 35.42km.

Answer: D

Watch Video Solution

38. A transmitting antenna of height 20 m and the receiving antenna of

height h are separated by a distance of 40km for satisfactory

communication in line of sight mode. Then the value of h is

A. 40m

B. 45m

C. 30m

D. 25m

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_JkQVQYsFKYhe
https://dl.doubtnut.com/l/_Bduln7qrjoJt
https://dl.doubtnut.com/l/_fyRD7bJ9K6fK


39. A TV transmission tower of antenna is at a height of 20 m. How much

service area can it cover if the receiving antenna is (i) at ground level (ii)

at a height of 25 m ? Calculate the percentage increase in area covered in

case (ii) relative to case (i).

A. 2.48

B. 

C. 

D. 

Answer: B

Watch Video Solution

348.9 %

150 %

360.2 %

40. By what percentage will the transmission range of a T.V. tower be

affected when the height of the tower is increased by 21% ?

A. 0.1

B. 0.2

https://dl.doubtnut.com/l/_fyRD7bJ9K6fK
https://dl.doubtnut.com/l/_mdRhiX2UqQfD


C. 0.3

D. 0.4

Answer: A

Watch Video Solution

41. A TV transmission tower has a height of 240 m. Signals broadcast from

this tower will be received by LOS communication at a distance of

(assume the radius of earth to be )

A. 100km

B. 110km

C. 55km

D. 120km

Answer: C

Watch Video Solution

6.4 × 106m

https://dl.doubtnut.com/l/_mdRhiX2UqQfD
https://dl.doubtnut.com/l/_uBLycVFuxZsq


42. A fax message is to be sent from Delhi to Washington via a

geostationary satellite. The minimum distance between the dispatch and

its getting received is (Take height of the geostationary

satellite=36000km)

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

72 × 103km

12 × 103km

27 × 103km

18 × 103km

43. A 50MHz sky wave takes 4.04 ms to reach a receiver via retransmission

from a satellite 600km above earht's surface. Assuming re-transmission

time by satellite negligible, find the distance between source and reciever.

https://dl.doubtnut.com/l/_uBLycVFuxZsq
https://dl.doubtnut.com/l/_ECnFrebUpKjp
https://dl.doubtnut.com/l/_h1anoS9ew8KI


A. 606km

B. 170km

C. 340km

D. 280km

Answer: B

Watch Video Solution

44. What should be the length of the dipole antenna for a carrier wave of

frequency  Hz?

A. 1m

B. 0.5m

C. 2m

D. 2.5 m

Answer: B

3 × 108

https://dl.doubtnut.com/l/_h1anoS9ew8KI
https://dl.doubtnut.com/l/_7WL1SJEo0P59


Watch Video Solution

45. A radio can tune to any station to 7.3 MHz to 12 MHz band. The

corresponding wavelength band is

A. 25m-40m

B. 10m-30m

C. 20-40m

D. 25m-35m

Answer: A

Watch Video Solution

46. On a particular day, the maximum frequency reflected from the

ionosphere is 10 MHz. On another day, it was found to increase to 11 MHz.

Calculate the ratio of the maximum electron densities of the ionosphere

on the two days. Point out a plausible explanation for this.

https://dl.doubtnut.com/l/_7WL1SJEo0P59
https://dl.doubtnut.com/l/_1EfOWBCeRsf6
https://dl.doubtnut.com/l/_g0hmvinXcGMw


Modulation And Its Necessity

A. 1.21

B. 0.82

C. 

D. 

Answer: A

Watch Video Solution

0.50

0.25

1. In frequency modulation

A. the amplitude of modulated wave varies as frequency of carrier

wave

B. the frequency of modulated wave varies as amplitude of

modulating wave

https://dl.doubtnut.com/l/_g0hmvinXcGMw
https://dl.doubtnut.com/l/_BqdmpmhRlqFA


C. the amplitude of modulated wave varies as amplitude of carrier

wave

D. the frequency of modulated wave varies as frequency of modulating

wave

Answer: D

Watch Video Solution

2. Audio signal cannot be transmitted because

A. the signal has more noise.

B. the signal cannot be amplified for distance communication.

C. the transmitting antenna length is very small to design.

D. the transmitting antenna length is very large and impracticable.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_BqdmpmhRlqFA
https://dl.doubtnut.com/l/_jAJg2R8iywYK


3. The modulation in which pulse. Duration varies in accordance with the

modulating signal is called

A. PAM

B. PPM

C. PWM

D. PCM

Answer: C

Watch Video Solution

4. Which of the following is digital modulation technique?

A. PCM

B. PAM

C. PPM

https://dl.doubtnut.com/l/_jAJg2R8iywYK
https://dl.doubtnut.com/l/_ml1c2Iqm8Go4
https://dl.doubtnut.com/l/_MkASKrkzEXf7


D. PTM

Answer: A

Watch Video Solution

5. If both the length of an antenna and the wavelength of the signal to be

transmitted are doubled, the power radiated by the antenna

A. is doubled

B. is halved

C. remains constant

D. is quadrupled

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_MkASKrkzEXf7
https://dl.doubtnut.com/l/_mICy9JDX92sK


6. A 300W carrier is modulated to a depth 75%. The total power in the

modulated wave is

A. 200W

B. 284W

C. 320W

D. 384W

Answer: D

Watch Video Solution

7. An audio signal of 15 kHz frequency cannot be transmitted over long

distance without modulation because.

A. the size of the required antenna would be least 5 km which is not

conveient.

B. the audio signal can not be trasmitted through sky waves.

https://dl.doubtnut.com/l/_nw6mLpImFl27
https://dl.doubtnut.com/l/_Spra18l9fuZK


C. effective power transmitted would be very low. If the size of the

antenna is less than 5 km.

D. all of these

Answer: D

Watch Video Solution

8. In frequency modulation

A. the amplitude of modulated wave varies as frequency of carrier

wave

B. the frequency of modulated wave varies as amplitude of

modulating wave

C. the amplitude of modulated wave varies as amplitude of carrier

wave

https://dl.doubtnut.com/l/_Spra18l9fuZK
https://dl.doubtnut.com/l/_8bH4MfUSVrNF


D. the frequency of modulated wave varies as frequency of modulating

wave

Answer: D

Watch Video Solution

9. Audio signal cannot be transmitted because

A. the signal has more noise.

B. the signal cannot be amplified for distance communication.

C. the transmitting antenna length is very small to design.

D. the transmitting antenna length is very large and impracticable.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_8bH4MfUSVrNF
https://dl.doubtnut.com/l/_ZcjxYJQQCdMV


10. The modulation in which pulse. Duration varies in accordance with the

modulating signal is called

A. PAM

B. PPM

C. PWM

D. PCM

Answer: C

Watch Video Solution

11. Of the following which is preferred modulation scheme for digital

communication.

A. PCM

B. PAM

C. PPM

https://dl.doubtnut.com/l/_fYsay7Ultmcv
https://dl.doubtnut.com/l/_CsRo5jzQ0lTJ


D. PTM

Answer: A

Watch Video Solution

12. If both the length of an antenna and the wavelength of the signal to

be transmitted are doubled, the power radiated by the antenna

A. is doubled

B. is halved

C. remains constant

D. is quadrupled

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_CsRo5jzQ0lTJ
https://dl.doubtnut.com/l/_mIAwYMV9seuk


13. A 300W carrier is modulated to a depth 75%. The total power in the

modulated wave is

A. 200W

B. 284W

C. 320W

D. 384W

Answer: D

Watch Video Solution

14. An audio signal of 15 kHz frequency cannot be transmitted over long

distance without modulation because.

A. the size of the required antenna would be least 5 km which is not

conveient.

B. the audio signal can not be trasmitted through sky waves.

https://dl.doubtnut.com/l/_aK5I5Adg0njs
https://dl.doubtnut.com/l/_AARbWRw1NigK


Amplitude Modulation

C. effective power transmitted would be very low. If the size of the

antenna is less than 5 km.

D. all of these

Answer: D

Watch Video Solution

1. A signal wave of frequency 12 kHz is modulated with a carrier wave of

frequency 2-51 MHz. The upper and lower side band frequencies are

respectively.

A. 2512 KHz and 2508KHz

B. 2522KHz and 2488KHz

C. 2502KHz and 2498KHz

D. 2522KHz and 2498KHz

https://dl.doubtnut.com/l/_AARbWRw1NigK
https://dl.doubtnut.com/l/_WVpiP59vCi73


Answer: D

Watch Video Solution

2. A message signal of frequency 10 kHz and peak voltage 10 volt is used

to modulate a carrier of frequency 1 MHz and peak voltage 20 volt.

Determine (a) modulation index (b) the side bands produced.

A. 1000 KHz, 990KHz

B. 1010KHz,990KHz

C. 990KHz,1000KHz

D. 1010KHz,1000KHz

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_WVpiP59vCi73
https://dl.doubtnut.com/l/_idcCAb31ZxEg


3. The maximum amplitude of an AM wave is found to be 15 V while its

minimum amplitude is found to be 3 V.What is the modulation index?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3

2

2

3

1

2

1

3

4. A modulating signal is a square wave as shown in figure. 

 


The carrier wave is given by 

https://dl.doubtnut.com/l/_ioZvwU8Ztoff
https://dl.doubtnut.com/l/_s81AzL4aeCBE


. 


The modulation index is

A. 0.2

B. 0.3

C. 0.4

D. 0.5

Answer: D

Watch Video Solution

c(t) = 2 sin(8πt)volt

5. A sinusoidal voltage amplitude modulates another sinusoidal voltage

of amplitude 2 kV resulting in two side bands of amplitude 200 V. Find

the modulation index.

A. 0.2

B. 0.3

C. 0.4

https://dl.doubtnut.com/l/_s81AzL4aeCBE
https://dl.doubtnut.com/l/_JUGw9uF8Ecpt


D. 0.5

Answer: A

Watch Video Solution

6. In an amplitude modulation with modulation index 0.5 the ratio of the

carrier wave to that of side band in the modulated wave is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

4: 1

1: 4

1: 3

2: 1

https://dl.doubtnut.com/l/_JUGw9uF8Ecpt
https://dl.doubtnut.com/l/_GvRWCBc404hQ


7. A carrier wave of peak voltage  is used to transmit a message

signal. The peak voltage of the modulating signal in order to have a

modulation index of  is

A. 6V

B. 7V

C. 8V

D. 9V

Answer: D

Watch Video Solution

12V

75 %

8. An amplitude modulated wave is as shown in figure. Calculate (i) the

percentage modulation, (ii) peak carrier voltage and , (iii) peak value of

https://dl.doubtnut.com/l/_qYoAasjBsGl6
https://dl.doubtnut.com/l/_GBHquUSMwlfO


information voltage. 

A. 30V,20V

B. 10V,15V

C. 15V,30V

D. 20V,35V

Answer: A

Watch Video Solution

9. Compute  product of a tuned amplifer circuit required to generate a

carrier  of  for amplitude modulation

LC

wave 1MHz

https://dl.doubtnut.com/l/_GBHquUSMwlfO
https://dl.doubtnut.com/l/_SlW4qDIQWivy


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1.5 × 10− 14s

1.2 × 10− 12s

3.2 × 10− 12s

2.5 × 10− 14s

10. The frequency response curve (figure) for the filter circuit used for

production of AM wave should be 

A. i followed by ii

B. ii followd by i

C. iii

https://dl.doubtnut.com/l/_SlW4qDIQWivy
https://dl.doubtnut.com/l/_WDdj5PnPr1bi


D. all of these

Answer: D

Watch Video Solution

11. A signal wave of frequency 12 kHz is modulated with a carrier wave of

frequency 2-51 MHz. The upper and lower side band frequencies are

respectively.

A. 2512 KHz and 2508KHz

B. 2522KHz and 2488KHz

C. 2502KHz and 2498KHz

D. 2522KHz and 2498KHz

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_WDdj5PnPr1bi
https://dl.doubtnut.com/l/_x68yIRAiNzJn
https://dl.doubtnut.com/l/_tCplRp4HyUIp


12. A message signal of frequency 10 kHz and peak voltage 10 volt is used

to modulate a carrier of frequency 1 MHz and peak voltage 20 volt.

Determine (a) modulation index (b) the side bands produced.

A. 1000 KHz, 990KHz

B. 1010KHz,990KHz

C. 990KHz,1000KHz

D. 1010KHz,1000KHz

Answer: B

Watch Video Solution

13. The maximum amplitude of an amplitude modulated wave is found to

be 15V while its minimum amplitude is found to b e 3V. The modulation

index is

A. 

B. 

3

2

2

3

https://dl.doubtnut.com/l/_tCplRp4HyUIp
https://dl.doubtnut.com/l/_NKlwgnCWpWud


C. 

D. 

Answer: B

Watch Video Solution

1

2

1

3

14. A modulating signal is a square wave as shown in figure. 

 


The carrier wave is given by 

. 


The modulation index is

A. 0.2

B. 0.3

C. 0.4

c(t) = 2 sin(8πt)volt

https://dl.doubtnut.com/l/_NKlwgnCWpWud
https://dl.doubtnut.com/l/_utP1vJAshzdt


D. 0.5

Answer: D

Watch Video Solution

15. A sinusoidal voltage amplitude modulates another sinusoidal voltage

of amplitude 2 kV resulting in two side bands of amplitude 200 V. Find

the modulation index.

A. 0.2

B. 0.3

C. 0.4

D. 0.5

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_utP1vJAshzdt
https://dl.doubtnut.com/l/_iGNNXr3TUFyK
https://dl.doubtnut.com/l/_AAZwZdjFUrZc


16. In an amplitude modulation with modulation index 0.5 the ratio of the

carrier wave to that of side band in the modulated wave is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

4: 1

1: 4

1: 3

2: 1

17. A carrier wave of peak voltage  is used to transmit a message

signal. The peak voltage of the modulating signal in order to have a

modulation index of  is

A. 6V

B. 7V

12V

75 %

https://dl.doubtnut.com/l/_AAZwZdjFUrZc
https://dl.doubtnut.com/l/_qNaGvAZFxMUz


C. 8V

D. 9V

Answer: D

Watch Video Solution

18. An amplitude modulated wave is as shown in figure. Calculate (i) the

percentage modulation, (ii) peak carrier voltage and , (iii) peak value of

information voltage. 

A. 30V,20V

B. 10V,15V

https://dl.doubtnut.com/l/_qNaGvAZFxMUz
https://dl.doubtnut.com/l/_Ec60uUtv8oHl


C. 15V,30V

D. 20V,35V

Answer: A

Watch Video Solution

19. The LC product of a tuned amplifier circuit require to generate a

carrier wave of 1 MHz for amplitude modulation is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1.5 × 10− 14s

1.2 × 10− 12s

3.2 × 10− 12s

2.5 × 10− 14s

https://dl.doubtnut.com/l/_Ec60uUtv8oHl
https://dl.doubtnut.com/l/_VZur1t8NUGc6
https://dl.doubtnut.com/l/_WAsLWR9glJbR


Detection Of Amplitude Modulation Wave

20. The frequency response curve (figure) for the filter circuit used for

production of AM wave should be 

A. i followed by ii

B. ii followd by i

C. iii

D. all of these

Answer: D

Watch Video Solution

1. In which of the following remote sensing technique is not used?

https://dl.doubtnut.com/l/_WAsLWR9glJbR
https://dl.doubtnut.com/l/_jmF7N9PeVPTV


A. Medical treatment

B. Pollution

C. Wetland mapping

D. Ground water survey

Answer: A

Watch Video Solution

2. Identify the incorrect statement from the following

A. AM detection is carried out using a rectifier and an envelope

detector.

B. Pulse position denotes the time of rise or fall of the pulse

amplitude.

C. Modulation index  is kept  1, to avoid distoriton.μ ≥

https://dl.doubtnut.com/l/_jmF7N9PeVPTV
https://dl.doubtnut.com/l/_KTMUQhX6P6zG


D. Facsimile (FAX) scans the contents of the document to create

electronic signals.

Answer: C

Watch Video Solution

3. The essential condition for demodulation is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

vc < < RC

< < RC
1

vc

> > RC
1

vc

vc > > RC

https://dl.doubtnut.com/l/_KTMUQhX6P6zG
https://dl.doubtnut.com/l/_f451q31yoqQZ


4. In a diode AM detector with the output circuit consists of R=  and 

 would be more suitable for detecting a carrier signal of

A. 1MHz

B. 0.1 MHz

C. 0.5MHz

D. 10MHz

Answer: D

Watch Video Solution

1MΩ

C = 1pF

5. Figure (EP) shows a communication system. What is the output power

when input signals is of 1.01 mW? [ gain in . dB = 10 log10(P0 /Pt)]

https://dl.doubtnut.com/l/_BUopCxTtxfji
https://dl.doubtnut.com/l/_tcbDy8Az59kw


A. 90mW

B. 101mW

C. 1112mW

D. 120mW

Answer: B

Watch Video Solution

6. (i) The intensity of a light pulse travelling along a communication

channel decreases exponentially with distance x according to the relation

, where  is the intensity at  and  is the attenuation

constant. 

I = I0e
−αx I0 x = 0 α

https://dl.doubtnut.com/l/_tcbDy8Az59kw
https://dl.doubtnut.com/l/_BsoVoFGviymt


Show that the intensity reduces by 75 percent after a distance of  


(ii) Attenuation of a signal can be expressed in decibel (dB) according to

the relation 

dB  What is the attenuation in  for an optical

fibre in which the intensity falls by 50 percent over a distance of 50 km?

A. 0.7

B. 0.75

C. 0.8

D. 0.85

Answer: B

Watch Video Solution

ln 4

α

= 10 log10(I /I0). dB/km

7. In which of the following remote sensing technique is not used?

A. Medical treatment

B. Pollution

https://dl.doubtnut.com/l/_BsoVoFGviymt
https://dl.doubtnut.com/l/_JnCA2lPCz3T8


C. Wetland mapping

D. Ground water survey

Answer: A

Watch Video Solution

8. Identify the incorrect statement from the following

A. AM detection is carried out using a rectifier and an envelope

detector.

B. Pulse position denotes the time of rise or fall of the pulse

amplitude.

C. Modulation index  is kept  1, to avoid distoriton.

D. Facsimile (FAX) scans the contents of the document to create

electronic signals.

Answer: C

μ ≥

https://dl.doubtnut.com/l/_JnCA2lPCz3T8
https://dl.doubtnut.com/l/_64163mUKOhYx


Watch Video Solution

9. The essential condition for demodulation is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

vc < < RC

< < RC
1

vc

> > RC
1

vc

vc > > RC

10. In a diode AM detector with the output circuit consists of R=  and

 would be more suitable for detecting a carrier signal of

A. 1MHz

B. 0.1 MHz

1MΩ

C = 1pF

https://dl.doubtnut.com/l/_64163mUKOhYx
https://dl.doubtnut.com/l/_6PbRCILhcpoL
https://dl.doubtnut.com/l/_UwQRHbiqkhzD


C. 0.5MHz

D. 10MHz

Answer: D

Watch Video Solution

11. Figure (EP) shows a communication system. What is the output power

when input signals is of 1.01 mW? [ gain in . 

A. 90mW

B. 101mW

C. 1112mW

dB = 10 log10(P0 /Pt)]

https://dl.doubtnut.com/l/_UwQRHbiqkhzD
https://dl.doubtnut.com/l/_aYikudT7jqCq


D. 120mW

Answer: B

Watch Video Solution

12. The intensity of a light pulse travelling along a communication

channel decreases exponetially with distance x according to the relation

 where  is the intensity at x=0 and  is the attenuation

constant. The percentage decrease in intensity after a distance of

 is

A. 0.7

B. 0.75

C. 0.8

D. 0.85

Answer: B

View Text Solution

I = I0e
−ax I0 α

( )
In4

α

https://dl.doubtnut.com/l/_aYikudT7jqCq
https://dl.doubtnut.com/l/_cBhiYRKaZWwH


Higher Order Thinking Skills

View Text Solution

1. An audio signal is modulated by a carrier wave of 20 MHz such that the

bandwidth required for modulation is 3 kHz. Could this wave be

demodulated by a diode detector which has the values of R and C as (i)

.

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

R = 1kΩ, C = 0.01μF (ii)R = 10kΩ, C = 0.01μF (iii)R = 10kΩ, C = 1μμ

R = 1kΩ, C = 0.01μE

R = 10kΩ, C = 0.01μF

R = 10kΩ, C = 0.1pF

https://dl.doubtnut.com/l/_cBhiYRKaZWwH
https://dl.doubtnut.com/l/_QISA93DbVCHd
https://dl.doubtnut.com/l/_XQVWSNg2lfWi


2. A multimode graded index fibre exhibits total pulse broadening of 0.1

us cover a distance of 1.5km. What is the maximum possible band width

on the link assuming no inter symbol interference?

A. 10MHz

B. 7.5M Hz

C. 5MHz

D. 2.5MHz

Answer: C

Watch Video Solution

3. Refer figure. Core has refractive index . The cladding

refractive index . In such a case. Will the light beam propagate? 


μ1 = 1.424

μ2 = 1.39

https://dl.doubtnut.com/l/_XQVWSNg2lfWi
https://dl.doubtnut.com/l/_U02HxfLLv6ZS


A. Yes

B. No

C. Data given insufficient to decide

D. the beam propagation is not affected with refractive indices of fibre

core and cladding.

Answer: A

Watch Video Solution

4. Three waves A,B and C of frequencies 1500 KHz. 6MHz and 50 MHz

respectively are to be transmitted from one place to another. Which of

the following is the most appropriate mode of communciation?

A. A is transmitted via space wave while B and C are transmitted via

sky wave

B. A is transmitted via ground wave, B via sky wave and C via space

wave

https://dl.doubtnut.com/l/_U02HxfLLv6ZS
https://dl.doubtnut.com/l/_cEBscxKuwdqG


C. B and C tranmitted via ground wave while A is trasnmitted via sky

wave

D. B is transmitted via ground wave while A and C are transmitted via

space wave

Answer: B

Watch Video Solution

5. If the sum of the heights of transmitting and receiving antennas in line

of sight of communication is fixed at h, show that the range is maximum

when the two antennas have a height  each.

A. 

B. 2h

C. h

D. 4h

h/2

h/2

https://dl.doubtnut.com/l/_cEBscxKuwdqG
https://dl.doubtnut.com/l/_BGyM1gGjoZ9Y


Answer: A

Watch Video Solution

6. Optical communication system having an operating wavelength 

metre can use only x % of its source frequency as its channel band width.

The system is to be used for transmitting T.V signals requiring a band

width of F hertz. How many channels can this system transmit

simultaneously? Show graphically how this number of channels varies

with operating wavelength of the system.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

λ

λF /Cx

2Cx /100λF

cx/50λF

cx/100λF

https://dl.doubtnut.com/l/_BGyM1gGjoZ9Y
https://dl.doubtnut.com/l/_mnnNPlIvNXrG


7. Estimate the fastest bit rate capable of being carried by light of

wavelength . How many phone calls could be carried at this bit rate

? Band width of optical fibre = 2 GHz.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1.3μm

2.9 × 107

1.5 × 106

2.3 × 105

1.7 × 104

8. The carrier freqeuncy of a station is 40 MHz. A resistor of 10k  and

capacitor of CpF are available in the detector circuit. The possible value of

C will be

A. 12

Ω

https://dl.doubtnut.com/l/_mnnNPlIvNXrG
https://dl.doubtnut.com/l/_fSW3oYa2Y2KP
https://dl.doubtnut.com/l/_HNqx84KGRiL4


B. 8.2

C. 5.6

D. All of these

Answer: D

Watch Video Solution

9. A ground receiving station is receiving a signal at 6MHz transmitted

from a ground transmitter at a height of 500m located at a distance of

100km. If radius of earth is m, maxim um number density of

electron in ionosphere is . the signal is coming via:

A. ground wave

B. spac e wave

C. Sky wave propagation is useful in the range of 30 to 40 MHz.

D. satellite transponder

6.4 × 106

1012m− 3

https://dl.doubtnut.com/l/_HNqx84KGRiL4
https://dl.doubtnut.com/l/_Vs64yKL62Nkx


Ncert Exemplar

Answer: C

Watch Video Solution

10. The output current of an 80% mondulating amplitude modulated

generator is 1.8A. To what value will the current rise if the generator is

additionally modulated by another audiowave of modulation index 0.6?

A. 1.71A

B. 1.81A

C. 1.91A

D. 2.01A

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Vs64yKL62Nkx
https://dl.doubtnut.com/l/_wZKTVwZ8jDE6
https://dl.doubtnut.com/l/_tN1zvMPSYf75


1. Three waves A,B and C of frequencies 1600 kHz, 5 MHz and 60 MHz,

respectively are to be transmitted from one place to another.Which of the

following is the appropriate mode of communication?

A. A is transmitted via space wave while B and C are transmitted via

sky wave

B. A is transmitted via ground wave, B via sky wave and C via space

wave

C. B and C tranmitted via ground wave while A is trasnmitted via sky

wave

D. B is transmitted via ground wave while A and C are transmitted via

space wave.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_tN1zvMPSYf75


2. A  long antenna is mounted on a  tall building. The complex

can become a transmission tower of waves with 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

100m 500m

λ

−400m

−25m

−150m

−2400m

3. A  signal is transmitted using a communication channel which

provides attenuatiom at the rate of  . If the communication

channel has a total length of  , the power of the signal received is 

[ gain in 

A. 900W

1KW

−2dBperkm

5km

dB = 10 log( )]
P0

Pi

https://dl.doubtnut.com/l/_Arqeq3vcubLX
https://dl.doubtnut.com/l/_BCp2ouWnBidz


B. 100W

C. 990W

D. 1010W

Answer: B

Watch Video Solution

4. A speech signal of  is used to modulate a carrier signal of

frequency , using amplitude modulation. The frequencies of the

side bands will be

A. 1.003 MHz and 0.997 MHz

B. 3001 KHz and 2997 KHz

C. 1003 KHz and 1000 KHz

D. 1MHz and 0.997MHz

Answer: A

3kHz

1MHz

https://dl.doubtnut.com/l/_BCp2ouWnBidz
https://dl.doubtnut.com/l/_9LZSdLKOTCMB


Watch Video Solution

5. A message signal of freuency  is superposed on a carrier wave of

frequency  to get an amplititude modulated wave (AM). The frequency

of the AM wave will be

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ωm

ωc

ωm

ωc

ωc + ωm

2

ωc − ωm

2

https://dl.doubtnut.com/l/_9LZSdLKOTCMB
https://dl.doubtnut.com/l/_0185IngXrX7u


6. 1-V characteristics of four devices are shown in figure. 

 


Identify devices that can be used for modulation

A. (i) and (iii)

B. Only (iii)

C. (ii) and some regions of (iv)

D. All the devices can be used

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_1AHfPhp9Icu0


7. A male voice after modulation-transmission sounds like that of a female

to the receiver. The problem is due to

A. poor selection of modulation index (selected )

B. poor bandwidth selection of amplitudes

C. poor selection of carrier frequency

D. loss of energy in transmission

Answer: B

Watch Video Solution

0 < m < 1

8. A basic communication system consists of (A) transmitter (B)

information source (C ) user of information (D)channel (E ) receiver `

Choose the correct sequence in which these are arranged in a basic

communicarion system.

A. ABCDE

https://dl.doubtnut.com/l/_Qri0b9R9Yzvg
https://dl.doubtnut.com/l/_zueiwH5lzZta


B. BADEC

C. BDACE

D. BEADC

Answer: B

Watch Video Solution

9. Identify the mathematical expression for amplitude modulated wave:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Ac sin(ωc + k1vm(t)t + ϕ

Ac sin(ωct + ϕ + k2vm(t))

(Ac + k2vm(t))sin(ωct + ϕ)

Acvm(t)sin(ωct + ϕ)

https://dl.doubtnut.com/l/_zueiwH5lzZta
https://dl.doubtnut.com/l/_ja5sIrwO0bFM
https://dl.doubtnut.com/l/_28utymsRXYhJ


10. Three waves A,B and C of frequencies 1600 kHz, 5 MHz and 60 MHz,

respectively are to be transmitted from one place to another.Which of the

following is the appropriate mode of communication?

A. A is transmitted via space wave while B and C are transmitted via

sky wave

B. A is transmitted via ground wave, B via sky wave and C via space

wave

C. B and C tranmitted via ground wave while A is trasnmitted via sky

wave

D. B is transmitted via ground wave while A and C are transmitted via

space wave.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_28utymsRXYhJ


11. A  long antenna is mounted on a  tall building. The complex

can become a transmission tower of waves with 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

100m 500m

λ

−400m

−25m

−150m

−2400m

12. A  signal is transmitted using a communication channel which

provides attenuatiom at the rate of  . If the communication

channel has a total length of  , the power of the signal received is 

[ gain in 

A. 900W

1KW

−2dBperkm

5km

dB = 10 log( )]
P0

Pi

https://dl.doubtnut.com/l/_VI5IMYYNWuHf
https://dl.doubtnut.com/l/_XQgcSxpPb9vo


B. 100W

C. 990W

D. 1010W

Answer: B

Watch Video Solution

13. A speech signal of  is used to modulate a carrier signal of

frequency , using amplitude modulation. The frequencies of the

side bands will be

A. 1.003 MHz and 0.997 MHz

B. 3001 KHz and 2997 KHz

C. 1003 KHz and 1000 KHz

D. 1MHz and 0.997MHz

Answer: A

3kHz

1MHz

https://dl.doubtnut.com/l/_XQgcSxpPb9vo
https://dl.doubtnut.com/l/_jZHAtscPztUy


Watch Video Solution

14. A message signal of freuency  is superposed on a carrier wave of

frequency  to get an amplititude modulated wave (AM). The frequency

of the AM wave will be

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ωm

ωc

ωm

ωc

ωc + ωm

2

ωc − ωm

2

https://dl.doubtnut.com/l/_jZHAtscPztUy
https://dl.doubtnut.com/l/_P2XXkeh5xVuE


15. 1-V characteristics of four devices are shown in figure. 

 


Identify devices that can be used for modulation

A. (i) and (iii)

B. Only (iii)

C. (iii) and some regions of (iv)

D. All the devices can be used

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_qENZD3k9cQxy


16. A male voice after modulation-transmission sounds like that of a

female to the receiver. The problem is due to

A. poor selection of modulation index (selected )

B. poor bandwidth selection of amplitudes

C. poor selection of carrier frequency

D. loss of energy in transmission

Answer: B

Watch Video Solution

0 < m < 1

17. A basic communication system consists of (A) transmitter (B)

information source (C ) user of information (D)channel (E ) receiver `

Choose the correct sequence in which these are arranged in a basic

communicarion system.

A. ABCDE

https://dl.doubtnut.com/l/_hkonyBsmxOEj
https://dl.doubtnut.com/l/_XqB6gdz9WAPc


B. BADEC

C. BDACE

D. BEADC

Answer: B

Watch Video Solution

18. Identify the mathematical expression for amplitude modulated wave:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Ac sin(ωc + k1vm(t)t + ϕ

Ac sin(ωct + ϕ + k2vm(t))

(Ac + k2vm(t))sin(ωct + ϕ)

Acvm(t)sin(ωct + ϕ)

https://dl.doubtnut.com/l/_XqB6gdz9WAPc
https://dl.doubtnut.com/l/_CNNZzhLWYzrO


Assertion And Reason

1. Assertion: Telephony is an example of point-to-point communication

mode. 

Reason: In point to-point communication modes, communication takes

place over a link between a single transmitter and a receiver.

Watch Video Solution

2. Assertion: The loss of strength of a signal while propagating through a

medium is known as attenuation. 

Reason: Transmitter helps to avoid attenuation.

Watch Video Solution

3. Assertion: Amplification is necessary to compensate for the

attenualtion of the signal in communication system. 

https://dl.doubtnut.com/l/_ShrZSxLB6FUn
https://dl.doubtnut.com/l/_ipeKrqnegeWv
https://dl.doubtnut.com/l/_iIoYoNTSnz3i


Reason: Amplification is the process of increasing the amplitdue and

consequently the strength of a signal using an electronic circuit.

Watch Video Solution

4. Assertion: The process of retrieval of information from the carrier wave

at the reciever is termed as modulation. 

Reason: Repeater helps to modulate the signals.

Watch Video Solution

5. Assertion: Digital signals are continous variations of voltage of curren

t. 

Reason: Digital signals are essentially single valued functions of time.

Watch Video Solution

https://dl.doubtnut.com/l/_iIoYoNTSnz3i
https://dl.doubtnut.com/l/_tlf0rW9KOgW2
https://dl.doubtnut.com/l/_ng2ISUIrSzxN


6. Assertion: Microwave communication is preferred over optical

communication. 

Reason: Information carrying capacity is directly proportional to

bandwidth.

Watch Video Solution

7. Assertion: The ionosphere layer acts as a reflector for all range of

frequencies. 

Reason: Ionosphere does not allow electromagnetic wav e to penetrate

and escape.

Watch Video Solution

8. Assertion: It is possible to transmit signals from one place on the earth

to practically other place on earth. 

Reason: A geostationary satellite orbiting the earth is u sed for

transmission.

https://dl.doubtnut.com/l/_Wk0Uoj9Jh91g
https://dl.doubtnut.com/l/_vTwFBoow6KoX
https://dl.doubtnut.com/l/_NfP7Z5ifINZW


Watch Video Solution

9. Statement-1: Short wave band are used for transmission fo radiowaves

to a large distance. 

Statement-2: Short waves are reflected from ionosphere.

Watch Video Solution

10. Assertion : The information contained in our original low frequency

baseband signal is to be translated into high or radio frequencies before

transmission. 

Reason: For transmitting a signal, the antenna should have a size

comparable to the wav elength of the signal.

Watch Video Solution

11. Assertion: Lond distance communication between two points on the

earth is achieved using sky waves. 

https://dl.doubtnut.com/l/_NfP7Z5ifINZW
https://dl.doubtnut.com/l/_sz3BXdyo5wWD
https://dl.doubtnut.com/l/_8nc7LHWKTKmf
https://dl.doubtnut.com/l/_nURNmudYmV5s


Reason: sky wave propagation takes place above. The frequency of 30

MHz.

Watch Video Solution

12. Assertion: The television signals are propagated through sky waves.

ltbr. Reason: Television signals have freqeuncy in the range of 1000MHz to

2000MHz range.

Watch Video Solution

13. Assertion: Space waves are used for litre -of -sight communication. 

Reason: Space wave travels in a straight line from transmitting antenna

to the receiving antenna.

Watch Video Solution

https://dl.doubtnut.com/l/_nURNmudYmV5s
https://dl.doubtnut.com/l/_05hO0LknjMIN
https://dl.doubtnut.com/l/_MsRS7y92mrDi


14. Assertion: When the height of a TV transmission tower is increased by

three times. The range covered is doubled. 

Reason: The range covered is proportional to the height of the TV

transmission tower.

Watch Video Solution

15. Assertion: AM detection is the process of recovering the modulating

signal from amplitude modulated waveform wich is carried out using a

rectifier and an evelope detector. 

Reason: Amplitude modulated waves can be produced by application of

the message signal and the carrier wave to a non-linear device followed

by band pass filter.

Watch Video Solution

16. Assertion: Telephony is an example of point-to-point communication

mode. 

https://dl.doubtnut.com/l/_tUHoaeaLTCiS
https://dl.doubtnut.com/l/_jUUAaHY0Zdxs
https://dl.doubtnut.com/l/_6Z3uTYNaAk9X


Reason: In point to-point communication modes, communication takes

place over a link between a single transmitter and a receiver.

Watch Video Solution

17. Assertion: The loss of strength of a signal while propagating through

a medium is known as attenuation. 

Reason: Transmitter helps to avoid attenuation.

Watch Video Solution

18. Assertion: Amplification is necessary to compensate for the

attenualtion of the signal in communication system. 

Reason: Amplification is the process of increasing the amplitdue and

consequently the strength of a signal using an electronic circuit.

Watch Video Solution

https://dl.doubtnut.com/l/_6Z3uTYNaAk9X
https://dl.doubtnut.com/l/_rTAZS9OrxQOc
https://dl.doubtnut.com/l/_G3Juswav68Dp


19. Assertion: The process of retrieval of information from the carrier

wave at the reciever is termed as modulation. 

Reason: Repeater helps to modulate the signals.

Watch Video Solution

20. Assertion: Digital signals are continous variations of voltage of curren

t. 

Reason: Digital signals are essentially single valued functions of time.

Watch Video Solution

21. Assertion: Microwave communication is preferred over optical

communication. 

Reason: Information carrying capacity is directly proportional to

bandwidth.

Watch Video Solution

https://dl.doubtnut.com/l/_0jWWbsK8cCfL
https://dl.doubtnut.com/l/_qMsRCnpF4d7e
https://dl.doubtnut.com/l/_ZQBlYqahjsT3


22. Assertion: The ionosphere layer acts as a reflector for all range of

frequencies. 

Reason: Ionosphere does not allow electromagnetic wav e to penetrate

and escape.

Watch Video Solution

23. Assertion: It is possible to transmit signals from one place on the

earth to practically other place on earth. 

Reason: A geostationary satellite orbiting the earth is u sed for

transmission.

Watch Video Solution

24. Statement-1: Short wave band are used for transmission fo radiowaves

to a large distance. 

Statement-2: Short waves are reflected from ionosphere.

Watch Video Solution

https://dl.doubtnut.com/l/_SEbvAhQFtkJX
https://dl.doubtnut.com/l/_Kfhtpv4524I6
https://dl.doubtnut.com/l/_uOCeKOwgSW2U


Watch Video Solution

25. Assertion : The information contained in our original low frequency

baseband signal is to be translated into high or radio frequencies before

transmission. 

Reason: For transmitting a signal, the antenna should have a size

comparable to the wave length of the signal.

Watch Video Solution

26. Assertion: Lond distance communication between two points on the

earth is achieved using sky waves. 

Reason: sky wave propagation takes place above. The frequency of 30

MHz.

Watch Video Solution

https://dl.doubtnut.com/l/_uOCeKOwgSW2U
https://dl.doubtnut.com/l/_6uJrAT9dyW9f
https://dl.doubtnut.com/l/_ecP8eDGdCjNm


27. Assertion: The television signals are propagated through sky waves.

ltbr. Reason: Television signals have freqeuncy in the range of 1000MHz to

2000MHz range.

Watch Video Solution

28. Assertion: Space waves are used for line -of -sight communication. 

Reason: Space wave travels in a straight line from transmitting antenna

to the receiving antenna.

Watch Video Solution

29. Assertion: When the height of a TV transmission tower is increased by

three times. The range covered is doubled. 

Reason: The range covered is proportional to the height of the TV

transmission tower.

Watch Video Solution

https://dl.doubtnut.com/l/_vIboWoi3wAof
https://dl.doubtnut.com/l/_zORtG9WiAPj5
https://dl.doubtnut.com/l/_d80iEvIETgwm


Hots

30. Assertion: AM detection is the process of recovering the modulating

signal from amplitude modulated waveform wich is carried out using a

rectifier and an evelope detector. 

Reason: Amplitude modulated waves can be produced by application of

the message signal and the carrier wave to a non-linear device followed

by band pass filter.

Watch Video Solution

1. An audio signal is modulated by a carrier wave of 20 MHz such that the

bandwidth required for modulation is 3 kHz. Could this wave be

demodulated by a diode detector which has the values of R and C as (i)

.

A. 

R = 1kΩ, C = 0.01μF (ii)R = 10kΩ, C = 0.01μF (iii)R = 10kΩ, C = 1μμ

R = 1kΩ, C = 0.01μE

https://dl.doubtnut.com/l/_IxhGtz2HnDQV
https://dl.doubtnut.com/l/_BP9VGOcFh9xw


B. 

C. 

D. None of these

Answer: A

Watch Video Solution

R = 10kΩ, C = 0.01μF

R = 10kΩ, C = 0.1pF

2. A multimode graded index fibre exhibits total pulse broadening of 0.1

us cover a distance of 1.5km. What is the maximum possible band width

on the link assuming no inter symbol interference?

A. 10MHz

B. 7.5M Hz

C. 5MHz

D. 2.5MHz

Answer: C

https://dl.doubtnut.com/l/_BP9VGOcFh9xw
https://dl.doubtnut.com/l/_Uz3wjXv5Mu4h


Watch Video Solution

3. Refer figure. Core has refractive index . The cladding

refractive index . In such a case. Will the light beam propagate? 


A. Yes

B. No

C. Data given insufficient to decide

D. the beam propagation is not affected with refractive indices of fibre

core and cladding.

Answer: A

Watch Video Solution

μ1 = 1.424

μ2 = 1.39

https://dl.doubtnut.com/l/_Uz3wjXv5Mu4h
https://dl.doubtnut.com/l/_qwaQF6HizhKF
https://dl.doubtnut.com/l/_7QB6L3jCmrN1


4. Three waves A,B and C of frequencies 1500 KHz. 6MHz and 50 MHz

respectively are to be transmitted from one place to another. Which of

the following is the most appropriate mode of communciation?

A. A is transmitted via space wave while B and C are transmitted via

sky wave

B. A is transmitted via ground wave, B via sky wave and C via space

wave

C. B and C tranmitted via ground wave while A is trasnmitted via sky

wave

D. B is transmitted via ground wave while A and C are transmitted via

space wave

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_7QB6L3jCmrN1


5. The sum of the heights of transmitting and receiving attennas in line of

sight of communication is fixed at h, find the height of two antennas

when r ange is maximum.

A. 

B. 2h

C. h

D. 4h

Answer: A

Watch Video Solution

h/2

6. Optical communication system having an operating wavelength 

metre can use only x % of its source frequency as its channel band width.

The system is to be used for transmitting T.V signals requiring a band

width of F hertz. How many channels can this system transmit

λ

https://dl.doubtnut.com/l/_Ke70kIFtoSJg
https://dl.doubtnut.com/l/_Pfn0xEsvJdm0


simultaneously? Show graphically how this number of channels varies

with operating wavelength of the system.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

λF /Cx

2Cx /100λF

cx/50λF

cx/100λF

7. Estimate the fastest bit rate capable of being carried by light of

wavelength . How many phone calls could be carried at this bit rate

? Band width of optical fibre = 2 GHz.

A. 

B. 

C. 

1.3μm

2.9 × 107

1.5 × 106

2.3 × 105

https://dl.doubtnut.com/l/_Pfn0xEsvJdm0
https://dl.doubtnut.com/l/_XZnHBsJseWGS


D. 

Answer: C

Watch Video Solution

1.7 × 104

8. The carrier freqeuncy of a station is 40 MHz. A resistor of 10k  and

capacitor of 12 pF are available in the detector circuit. The possible value

of C will be

A. 12

B. 8.2

C. 5.6

D. All of these

Answer: D

Watch Video Solution

Ω

https://dl.doubtnut.com/l/_XZnHBsJseWGS
https://dl.doubtnut.com/l/_3UvnvKlI3DMG
https://dl.doubtnut.com/l/_qUI6jQG9ivxq


9. A ground receiving station is receiving a signal at 6MHz transmitted

from a ground transmitter at a height of 500m located at a distance of

100km. If radius of earth is m, maxim um number density of

electron in ionosphere is . the signal is coming via:

A. ground wave

B. spac e wave

C. Sky wave propagation is useful in the range of 30 to 40 MHz.

D. satellite transponder

Answer: C

Watch Video Solution

6.4 × 106

1012m− 3

10. The output current of an 80% mondulating amplitude modulated

generator is 1.8A. To what value will the current rise if the generator is

additionally modulated by another audiowave of modulation index 0.6?

A. 1.71A

https://dl.doubtnut.com/l/_qUI6jQG9ivxq
https://dl.doubtnut.com/l/_bggEWGT2HsQk


B. 1.81A

C. 1.91A

D. 2.01A

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_bggEWGT2HsQk

